
EXERCISE # 1 
 A.
Q.1 

Q.2 
Q.3  

Q.4  1 
Q.5 
Q.6 1 
Q.7  H2SO4 
Q.8  (Na2CO3.10H2O) 

Q.9 
CH3OH, CH4, H2O2? 

Q.10 
6.022 × 1023 

Q.11 
Q.12 

Q.13 
Q.14 
Q.15 

(i) (NH3)  1 
  (ii) (CH4)  1 
Q.16 104 g.He  
Q.17 (S8) 
Q.18 “ 100 

, 
11 89 

” 

Q.19 “ 100 
56 

44 

 

Q.20 

B.
  

(31-46 ) 
 

Q.21 
 

Q.22 12.044 × 1025 

Q.23 
(a) 
(b) 

 

Q.24 Y 4 
(a) (b) 
(c) (d) 
(e) 

Q.25 B, 4  6 

Q.26 3 X, Y 
Y 

 

Q.27 
 

Q.28 
 

Q.29 ‘ ’ 

(a) 
(b) ? 

 

Q.30 ‘ ’ 
 

Q.31 2N  N2 
 

Q.32 H2SO4 H2, S  O4 



EXERCISE # 2 
 A.

 

(47–60 ) 
 

Q.1 
(i) (ii) 
(iii) (iv) 
(v) 

 

Q.2 

, 
 

Q.3 
(i)  3.2 g. S8 S 
(ii) CH4 80.0 g 
(iii) NH3 1 
(iv) 0.25 
(v) MgBr2 0.2 

 

Q.4 
 

Q.5  ‘ 16 ” 
 

Q.6 
(i) , CH3OH (ii) , C2H5OH 

 

Q.7 
 

Q.8 X , 2.0 × 10–23 g 
(i)  X 
(ii) X 

Q.9 4.65 × 10–23 g 

Q.10 1 x , 
1 

(S = 32 u ; O = 16 u) 
 

Q.11 56 g 

(O = 16 u ; N = 14 u) 
 B.
Q.12 

........ 
 

Q.13 ............. 
 

Q.14 .............. 
 

Q.15 1 = ............... 
 

Q.16 SO2 S O .............. 
 C.

 

Q.17 -
 

Q.18 
 

Q.19 6.022 , 
 

Q.20 , 
 

Q.21 CO2 SO2 1 
 

Q.22 CO2 1 , 44 g 
 

Q.23 , 



ANSWER KEY
EXERCISE # 1

1. 2. Cu  Co 3. (i)  Fe (ii)  Na 
4. 18 g 5. Pb, Al 6. 12 g 7. 98 u 8. 286 u
9.H2O2 10. 4 g 11. 1/12th – 12 12. 14 : 3
13. Al+3, Fe+3 14. CaO 15. NH3 16. 26
17. 256 g 18. 19. 
20. 

EXERCISE # 2
12. 1 : 8 13. 14. 3 15. 6.022 × 1023 16. 1 : 1
17. 18. 19. 20. 21. 
22. 23. 




